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o View it as a geometrical problem on a plane.
o Start at (0,0),
o white brick means "go one step right”,

e black brick means “go one step up”.
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Example: 2W, 3B, 1W, 3B, 4W, 2B, 1W
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o0al: count the number of intersection points with integral coordinates!
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How to count them?

© There are at most n of them.

o For each horizontal /vertical segment calculate the potential
intersection.

o Avoid floating point arithmetic.
o Complexity O(n).
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LLookup array prepared: O(n . log n)
= One possibility:
= Remember the “last previous” duplicity
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= Query is resolvediin O(1)





